EARAZROREIERT — 2 N—XBISY —F 20135F4813H (£) 3@EFIL7H

PRl S5 1000ATF ¥5%4E (BE) 8 (xwlw | lmEmml - |5 ) wom s
[A&E4£] 1 7 14,400,000 § 2 7% :5,800,000 § 3 7% :3,600,000 4 3% :2,200,000 3 5 & :1,440,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
117l43l V770 zE2 R 4 gﬂ%it 1:(5_3).2 55-4-4 | 37.7[105.1 | 1 | 462 §§g§§¥§>

RX:FIU— b B:vamsELD 02| =g

© 7o 9 AaisiE : -9-6- DNEEAESA (357H)

o lglig| 7H oA 1 b > 5| B 1.{543).9 12-9-6-7 [38.1| 99.1 | 4 (4_720) EE%}

XD THANAN B:LUyIL—X HET7— L

. . . . . _13-10- BB
J+—7 hMbx—K Ho4 g;_ﬂgﬁi% 1(.15/42.>o 12-13-12-12| 87.7 | 98.2 | 2 (4762) ?&Egaﬁ% (ER)
ixALIZ Ty —R BIARANKI V3> BREHHE S/ 77— L4

o 4 4 | IHES 1:54.1 8-8-6-5 |38.3| 97.3 | 8 512 | BIWER (5)
LE=Ry YR 57.0 (3/4) o | @ Basic
v AxINTT BT AT7AKy TX ng r—

. EES . 1516 R ()
AN YT L Ho4 =2 (11.514/.5 16-15-16-16| 37.6 | 95.5 | 6 (430) ey
L:TANVRTyYa B:Yv—ZINIy b BRES 4%

o 4 | EERT 1:54.3 14-13-12-10| 38.0 | 95.6 | 9 492 | ABEB (EH)
TVaxI-Ib # 5.0 (NF) 4 | B HF-L—2>y
R:79%% BANATLYLT (B) #HAEA-FKL—Ya>AET7

. KtR&A : —~15-15- y j
AR AVESZEDR VN (=) o7 ?‘;;_ORE 1(/?;;% 15-15-15-12| 37.9 | 95.6 | 12 (4&2) Iggfg{éiﬁ)
L:d—IK7Ya—-b B:YvX3I2TY-X palrae]
# o5 | HEEKE 1:54.3 10-11-9-7 | 38.3 | 95.6 | 11 | 458 |RAH— (L)
8 3 AXEA—F 21 L 575.0 (NF) (-2) (g) EvJILy RT77—L4
L84 LINS Ry X B:OAXEILRLX EviLy RI77—L4
N o DI8ME 54, -1-1- . . b= i
9l1/1 |7 bz~ [B] # 5 | Eil 1548 1-1-1-2 |39.5| 942 | 5 (5_020) éﬁgfi ()
L:Er/07O4 BYLFeiI8— 772 RE
2 R= . 4 5 | SHERK 1:54.6 3-3-2-2 | 39.5| 93.4 | 7 506 | FEE ()
10/8|15| SATY—bLA> 57.0 1/2) -10) SFEAANF1LTR (B
RTIRRFTEN BALTHTIZb J—HTp—L
NN R HEIFE : —7-6- AEKE (EXR)
1lsliol T7 ALy Ho4 g 175?1:53 7-7-6-5 |38.9] 93.1 | 3 (412) DREBE
R:F4—TA4>N7 8 B:ov1=ZvL—%— HET77—L
» o HPBE : -0 Z/BHFE (E#H)
. g| Z1TRINF— 44 2 1.(545).3 2-2-2-1 | 40.3| 88.1 | 10 ?_9:) mszé?yz+
R:TITRATFIRIN B AL E—H—I FRBE%S
e = FHE—H :55. -12-12— . . HAEM®RE (X#)
13 1 Y=L INIRTIL 4 6 ne 1(15/52)4 10-12-12-12] 39.2 | 86.5 | 14 (4;6) id-
R:V>RKYIZYAIR BRI T4 T — SRS
> LS 5 | AR 1:55.5 9-9-9-11 [39.4| 85.8 | 15 | 456 |&SWERI (E#&)
1408 7| XTIV T —F 57.0 (7€) o) | BB #5TLyKIST 5747
RTIRAFTEIN BAXRENLLIT EvdlLyRT7—L
— = it 5 | BEIREX 1:55.7 4-4-4-9 | 40.2| 84.8 | 13 | 438 |HMAKERFI (%)
15/7{14| 7177017 * 57.0 (11/8) © FAPLAN
R:F—TRTPN—hr B:HAL2 Ny K NBT7—L4
o o FFfZ : ~5-9- REEE (EH)
16/5/9 | ®@7 T 7 o 1.(5‘8.4 5-5-9-12 | 40.4 | 79.4 | 16 (ﬁg) iy
RT—NFRHFLF— BT S
@ 71 L
) 50.7-38.2
NA> 24 L | 12.6-11.4-12.8-13.3-12.4-12.5-12.4-12.8-13.0
® I —F—@EBIERL
|2=3F= 1,8,15,14(9,13)10,5,7(3,11) (6,16)12,2,4
2= = 1,8,15,14(9,13)10,5(7,16)3,11(6,12)-(2,4)
Gol=5r= (x1,8,15)-(13,14) (5,10,16) (9,7,3) (6,12,11)2-4
43—+ — (1,%8,15)-13(5,10) (3,16)14,12,7(9,2,6,11)4
[ N3
BB 13 330H 714K 13-16 410 e E 7-8 710M JEHE 6-13-16 1,600
8 B 13 130M 6-13 320M B = 13-16 1,140 B 13-16-6 7,600M
16 190M 6-16 510M B H 13-16 1,930
6 170

ABICOVWTRDTEEERROODE. TR LIV,




